fA: MOtS3SH
M FUFEO XHIIsE S &
¢t 2EE ISH 2438 (SH9 H2)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlwsz
MNOtE2SSH 8,138,864 6,983,963 1,154,901
= 600,595 1,815,095 1,214,500
= 1,252,000 0 1,252,000
& 6,286,269 5,168,868 1,117,401
FOIFEO| XHItss ssH *& 7,770,543 6,758,484 1,012,059
= 600,595 1,815,095 A1,214,500
= 1,252,000 0 1,252,000
& 5,917,948 4,943,389 974,559
SHE SSH 243 1,253,149 1,115,649 137,500
s 37,500 0 37,500
& 1,215,649 1,115,649 100,000
Ol 2= 843t 228,140 228,140 0
308 AXISHMSOIN 187,810 187,810 0
01 IXSHHBLAEERS 187,810 187,810 0
Osds oie3sH A& 61,747 39,000 22,747
O0rI23sHMoItCI &4t XA 27,253 50,000 NP2, 747
ANESSH AlE 2H3IE A SSH &8s XA 37,500 0 37,500
= 37,500 0 37,500
308 AXIHM SO 37,500 0 37,500
= 37,500 0 37,500
01 X HMBLEES 37,500 0 37,500
OXNEEsH AL 243E Rt SSH &
SA& 37,500 0 37,500
s 37,500 0 37,500
DSADIRH =& 911,644 811,644 100,000
201 L2 AH| 903,300 803,300 100,000
01 ArR22elt| 903,300 803,300 100,000
OLEAE JI2H 84835 g2 =X 303,300 203,300 100,000
g ASEHIZ =4 2 29 1,610,000 1,020,000 590,000
= 0 1,000,000 A 1,000,000
= 1,000,000 0 1,000,000
= 610,000 20,000 590,000
LASEYIH A 1,610,000 1,020,000 590,000
= 0 1,000,000 1,000,000
= 1,000,000 0 1,000,000
& 610,000 20,000 590,000
307 QIZ2t01 A 1,590,000 1,000,000 590,000
= 0 1,000,000 21,000,000
= 1,000,000 0 1,000,000
& 530,000 0 530,000
05 2IZteEe g 1,590,000 1,000,000 590,000
OasSg"E32t &4 1,590,000 1,000,000 590,000
= 0 1,000,000 21,000,000




A MOtSSSH
g3 FUFEY NHItsst sSH 728
el SY ASE8sY 24 H 29 (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
z 1,000,000 0 1,000,000
= 590,000 0 590,000
QIZEERH X 900,893 762,893 138,000
MOIS S S4XI1= 412,600 286,600 126,000
307 2IZtoI& 220,600 176,600 44,000
02 QZHEMAIHE X 70,000 26,000 44,000
OMDOIS2l =Mzt E5AEY 44,000 0 44,000
403 RXISHHMSA=01H 177,000 9,000 82,000
01 RIXISHMA 22X 177,000 95,000 82,000
O=gAl MOtSal2 24 L JISETAY 12,000 0 12,000
OGTAl & - & MOISXE AR X &
s=2d 45,000 0 45,000
OgTAl & - & MOISXIal 243 X 25,000 0 25,000
iEdaigs @il 54 103,645 91,645 12,000
308 ARISMSOIE 27,000 15,000 12,000
01 MAESHB&Ex= 27,000 15,000 12,000
O84z HiEHII2S 243 At 12,000 0 12,000
N2 SA 2dst 2,324,421 2,207,862 116,559
= 600,595 600,595 0
T 1,723,826 1,607,267 116,559
ANZ TH2SAHES X 961,405 844,846 116,559
308 XXM SOl 961,405 844,846 116,559
01 IXHMBdEx= 961,405 844,846 116,559
OAZAESAHIE 29 386,125 360,400 25,725
OS8s THESA HEBE 29 309,960 219,126 90,834
CF QAR A Etat 5 243t 489,700 489,700 0
= 0 200,000 200,000
= 200,000 0 200,000
& 289,700 289,700 0
QIZHEXl JIgh 2= 434,710 434,710 0
= 0 200,000 200,000
z 200,000 0 200,000
= 234,710 234,710 0
307 2IZto& 400,000 400,000 0
= 0 200,000 200,000
fas 200,000 0 200,000
< 200,000 200,000 0
02 QIZHEMAIH S X 400,000 400,000 0
OSHASZHMHNZEHS 29 400,000 400,000 0
= 0 200,000 200,000
Fas 200,000 0 200,000
< 200,000 200,000 0
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MOtSSSHI

M AHAH2IAHI(MOISSSH)
gl JI=ZHI(MOSSSHID) (S ® )
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
04 RA2LHRFEH 3,240 3,780 AD40
OMDISEsHL HRFH 3,240 3,780 A540




